R RE
BESH
NEAETE

M LM E(TED)

RRHE

ML MERTEEAELQ@ 360°)

& KR

DYR

RATEEK
PRIFE A KA R
BREN KRR
RFE KRG FBER
BEEXRFEBLR
AHESEANRERK
MTTFd/MTBF
HEEBEE

THARERIRFE(typ.) REER
T AR B RRFE(typ.) BEEK

1 H & /) BB PR SR
WHBRKXBRAR
ok 38 18 1 37 R

B R AR M S SR AR A
BB S M B A
BRELYUBRBE
BAEEER
BR&LUBEBE
TR
BAEREITR @
BRELUBBE TR
BREETRED
BRLUBEE TR

WS 5%
M AEE
B &R
RNED
IHEMNEFRE

A}

-

ERAR (B ARAFE

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VvDC
mA
mA
kOhm
nF
kHz

mm2

mm2

mm2

movements
°C

IEC 68-2-6 #&k3h (Amax =0.75mm, f=5 ... 2000 Hz) g

IEC 68-2-27 i

A

EN 55022 class B, Emission radiated (30... 230 MHz)

EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)

EN 61000-4-4, Burst (on all lines)
EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)

EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

HEBESAR (L¥E) BFRAF TEL:400-800-5927 K L.

dB(uV/m)
dB(uV/m)
kv

V/m

kV

MH-C MH-C2
0...360

+0.3

+0.5

0.1

12

0.1

(5)

1.66

(800)

4600

25

240 / 240
8..35

(19)

14

10

1

0.1..1

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
1F68

no limitation

-40 ... +85

50

200

max. 30
max. 37
+4 /8
30

+1

10
30
20

www.tifu-auto.com

Vert X 37E 24V PWM

B1 A

Rl HLAK
BERAM
Al WA
BHRARER

FRELET

B S5 P68
FEAFERI
A= B 750

REFa

BERENE
BEETEHRENA

(RE BR, RLRHE)
BREESAEEEAES #
RAEH

A company of the Siedle-Group

CONIELEC

18017427003



R}

RERBEFAR (L) FRAF

AR

n‘;"
=
Ic

Vert-X 37E - 24V /| PWM
TR
B TE B /5h 16
5 ¥R A 44X 3pole
7 Ak 44 5pole / 6pole
9 Wik R EBEAEK &S
BREE/RH
4 ¥rAE B B4 3pole
A 6 Ak B B4 6pole
EME %8 E CWHR A1 9 HiE Bk ATIS IR &4
IE [ % B CCWH %2
TR, IEM#BEE CWH£3
%, ER#E COWT 4 e
TR, XXESHETIES 03 3% 30cm
05 #5# 50cm
WHES 99 ik BHKE
PWM Standard 4
BAKE
02 #54 1.0m
" 06 i 3.0m
R B 10 Ti% 5.0m
24VDC Standard 1 99 Wik BHKE
VertX 3 7 Ei 4 7 3 6 1 4 1 5 0 5
BREA
36PRE B SEA360°
xxA[#%£03 to 35; Declaration in 10° steps
QORI HRB KA
7 MH-C
HLAR 45 AR A<
37E1 Wik @R K% size 13 ; W H TN Mtype 1
37E2 ik A IR L $Esize 13 ; Wit 1T Hl Mtype 2
37E4 ¥R R R $Esize 13 ; BAMEHITHLA type 4
37E9 Wik BB NR BB RTIG
ik (REEFER)
MH C MH C2
1T I B AT LA X
THIs%E X
1T il e 88/ 4% X
PREAE SRR X
FFXIDBETTL (max. 2) X
SRS B &
BHRESHEA TE30°to 360° (BAI) X
HEEATRE (B4

IR RMA RLANRE (&L
HE¥ B ACW/CCW AR E / Al 4w iE (MRS 1)
RE|IRARE ARE (ALK IEKM)

CONIELEC

A company of the Siedle-Group

EREEEAR (L) AFRAT TEL:400-800-5927 K T: 18017427003

www.tifu-auto.com



RERBEEA (L) FRAF

Finbaumass ~ Ltdz
working position 16
M5 S ini
= 21 3
[ —H+H
E“ _(_LI; it - /IB o
=5 i | — r
LO [ | o0}
g =
B € AT )
e T ¥~
™ HUNIN
j 4 H
_|_®5Tief95 12
g 20 19,4
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,3
AT T4 16
— o S -
D\ r__ | O |
ST Rl @ —
RCIR NS |11y B S
= m‘ __({‘I:_*_ y U \
| T H
] lap) 1T
v | SV H
@5 Tiefe b 12
826 24

BREHEFEAR () AFRAE TEL:400-800-5927 fk T

www.tifu-auto.com

*
| :

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx

B (incl.)
1Ix BEXRF
2x T FE ST = IR 44 M5x12

THEE(Z) M BTN
RA RV
SERERFER

Vert-X 37E4 xxx xXxx 4xx
Vert-X 37E4 xxx XXX 6xx

B #(incl.)
1x BEXRF
2x T FE R L E IR 4 M5x12

TEAMLEZ) M B ERTHG

KRRV
SERRER

CONIELEC

A company of the Siedle-Group
18017427003



RREEEAR (L FRA

=

Finbaumass ~ [rdz
W1 working position 1,6
B |
[ =Tl S8
il 7
= oo | i g g"
_
1Sk] g5 CHI v 1
s TH 1
1 Nyl
= 4]
o || @5 Tiefe 5 12 165
. 826 19,4
. Finbaumass L EE
.;SW 10___ working position 16
-l 4
Q — - o8
f'\/ L] — 11 HE=Ss
- o o1 <CHAR i
» S\ 3l \ 0 %‘
[ ! | o Y —
| @ ) e 1 Ul [
N/ 2| !
‘w/ ™ JT L 1
| sy n
\m/ D=1 s
#5 Tiefe 5 g2 1)
826 i

HEBIEHEAR (L) BFRAF TEL:400-800-5927 K L

www.tifu-auto.com

-~
—-—_
r

c

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B #E(incl.)

1Ix BEXRF

2x gL E IR 4 M5x12

THRALEZ) M #ERTHG
BR AV
SEREER

Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx Xxx 6xx

B2 (incl.)
1x BERXRF
2x w FE R L 2 IR M5x 12

THRMEZ) M B ERAT I

RRAVFH
SERRKER

CONIELEC

A company of the Siedle-Group
18017427003



RRBTEEAR (L) FRA

R}

|

Einbaumass [ +dz
working position g
i i
L] HF E
1o *I.ZL; i g
Sl 8 T e T fFeslelss
ISYIRE A =0 I Y
e LY
(0 T
Y Sy NN
. - 10,5
||| #5Tiefe 5 T2 MEREN
- 826 19,4
Einbaumass ‘Z tdz _
3x M3 warking position 0
_q_ - L. B —m= =3
l 1 FT:_:: E
ol CigH -
[=£2) Dg r “ mm “ Jl \
SH s ol I #rToho
ol B RS 1 N IS} R S SRSy
= 1 CHE Ol 1 Yy
o P
98 NN
| =y [
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx

B2 #(incl.)
1Ix BEXRF
2x W RE R L B R4 M5x12

THEALEZ) M #ERITHY
RARFH
SERERFER

Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B2 #(incl.)

1x BEXRF

2x IR EL S IR 4 M5x12

THEZ) M @R AT

BRAAFHE
SERERFER

CONIELEC

A company of the Siedle-Group

BERBPEEA (LB ARAT TEL:400-800-5927 5K T.: 18017427003

www.tifu-auto.com



RRXEEHEAR (L FRAF

L_Zidz

/ Iidz

BEBEFEAR (L¥FE) BRAT TEL:400-800-5927 Kk L:

www.tifu-auto.com

Vert-X 37E4

REER

TEME(Z)

MH-C 3.85mm
MH-C redundant 4.35mm

BMERATY R R A V4RI

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1

REER

THEMEZ)

MH-C 4.95mm
MH-C redundant 5.45mm

BEMERAT YL R R AL VR 4R ID

dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group
18017427003



RRELER (L) FRAF

Vert-X 37E2
RZEREER
TENMEZ)
MH-C 6.45mm
MH-C redundant 5.95mm
RTINS K iR
[: dx +0.25mm
r dy +0.25mm
dz +0.5mm
Vert X 37E
50
Q
N oL
Te)
= |
Y |
i 5 ' _
i
8338

35
1,5

CONIELEC

A company of the Siedle-Group

BEREEEA (HE) BRAT TEL:400-800-5927 5K T.: 18017427003

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



